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USN 17MAT41
Fourth Semester B.E. Degree Examination, ‘July/August 2021
Engineering Mathematics - IV
Time: 3 hrs. = Max. Marks: 100
Note: Answer any FIVE full questions.

.S !
1 Use Taylor’s series method to find y(1.5) from y'=xy?, y(1) = 1;.consider upto third order

derivative term. (06 Marks)

Find y(0.2) by using modified Euler’s method given that ..y'=x+‘\/§, y(0)=1. Take
h = 0.2 and carry out two modifications at each step. (07 Marks)
If Sxy'+y*=2, y(4) = 1, y(4.1)=1.0049, y(4.2)=1.0097, y(4.3)=1.0143 then find
y(4.4) by using Milne’s. method. (07 Marks)

Use Taylor’s series method to find y(1.02) from y’'=xy—1, y(1) = 2 consider upto fourth
order derivative term. (06 Marks)
2 2

Use Runge-Kutta method to find y(0.2) from y'= yz;xzs y(0) =1 taking h=0.2.
yo+x

p (07 Marks)
Use Adam Bashforth method to find y(0.4) from y’;x+y2, y(0) = 1, y(0.1)=1.1,
y(0.2)=1.231, y(0.3) =1.402 ' (07 Marks)
Express 2x” —x’ —3x+2 _in terms of Legendre polynomials. u (06 Marks)
Find y(0.1) by using Runge=Kutta method given that y" = x*(y +y");yy(0) = 1, y'(0)=0.5
taking step length h = 0.1, 7 ot (07 Marks)

i |
If o and p are the roots of J, () =0 then'show that [xJ, (6x)J, (Bx)dx =0 if o # .
0 %

(07 Marks)
Prove that J | (x) = icmsx N (06 Marks)
) X :
Find y(0.4) by using Milne’s:method given y' #y' =2¢*, y(0) =2, y'(0)=0, y(0.1) = 2.01,
y'(0.1)=0.2, y(0.2) =2.04, y'(0.2)=0.4, v(0.3) =2.09, y'(0.3)=0.6. (07 Marks)
State and prove Rodrigue’s formula. (07 Marks)
Derive Cauchy-Riemann equation in Cartesian form. (06 Marks)
Find the analyti¢ function f(z) =u+iv in terms of z given that U =— L’jm £x :
' e +e™ —2cos2x
(07 Marks)
( 2 2
Evaluate J-sm L% -:COSRZ where C is the circle ‘zl = (07 Marks)
L (z-1)'(z=2).
: 2 2
olf (z alf (z
If f(z) is analytic function then prove that, {i—gi—?ﬂ + [%} - |fv(z)|2 ' (06 Marks)
Discuss the transformation W = e”. (07 Marks)
Find the bilinear transformation that maps the points z=-1,i,1 onto the points
W= 1,1, —=1. Also find the invariant points. (07 Marks)
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Find the value of K such that the following distribution represents a finite probability
distribution. Hence find its mean and standard deviation. Also find
(1) P(x<1) (i) P(x>1) (i) HP(-1<x<2)
X =31 =3 d.=bd 8. bk 2. 13 ,
P(x) | K [2K |3K [4K |3K | 2K K :

(06 Marks)
The marks of 1000 students in an examination follows a normal distribution with mean 70
and standard deviation 5. Find the number of students where marks will be
(i) Less than 65 (i) More than 75 (i) Between 65 and 75 (A(1) = 0.3413)

(07 Marks)
The joint probability distribution for two.random variables X and Y'as follows:
Y|=2|-1| 4|6 : :
X
1 0.1]02] 0 [0.3
2 0.2]0.1[0.1].0
Find : (i) E(X)E(Y) (i)  EXY)

(iii) Covariance'of (XY) (iv) Correlation of X and Y. (07 Marks)
Derive mean and variance of the exponential distribution. (06 Marks)
The joint probability distribution for two random variables X and Y as follows: (07 Marks)

Find (i) E(X) and E(Y) o, Y| -4]| 2 7
(i) E(XY) X
(iii) Covariance (X, Y) Nk % % %

“(iv) Correlation of X and Y.

5 1 1 1

Vad s | &
In a certain factory turning out razor blades there is a small chance of 0.002 for any blade to
the defective. The blades are supplied in packets of 10. Using Poisson distribution find the

approximate number of packets containing (i) -No defective blade  (ii) One defecting blade
(iii) Two defective blades'in a consignment of 10000 packets. (07 Marks)

A coin was tossed 400 times and the head turned up 216 times. Test the hypothesis that the
coin is unbiasedat.5% level of significance. (06 Marks)
A certain stimulus administered to each of 12 patients resulted in the following increases of
blood pressure 5, 2, 8, -1, 3,0,-2,1,5,0,4,6. Can it be concluded that the stimulus will in

general be accompanied by an increase in blood pressure. (t(11)o00s = 2.2) (07 Marks)
Find the unique fixed probability for the regular stochastic matrix :
0 0
0 0 T N, (07 Marks)
w2 12 0
" Define the terms’: (i)~ Null hypothesis » (i) Type—1I and Type Il error.
g 4 (iii) Tests of significance. (06 Marks)
In experiments on pea breeding the following frequencies of seeds were obtained:
"Round and | Wrinkled and | Round and | Wrinkled Total
Yellow Yellow Green and Green
315 % 101 108 32 556
Theory Predicts that the frequencies should be in proportions 9:3:3:1. Examine the
correspondence between theory and experiment (\pgﬂs =781 S). (07 Marks)

A students study habits are as follows. If he studies one night, he is 30% sure to study the

next night, on'the-other hand, if he does not study one night he is 60% sure not to study the

next night as well. Find the transition matrix for the chain of his study. In the long run how

often does he study? (07 Marks)
. * % k) of 2% * *
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2. Any revealing of identification, appeal to evaluator and /or equations written cg, 42+8

Fourth Semester B.E. Degree Examination, July/August 2021
Object Oriented Concepts
N Ny,
Time: 3 hrs. ' .Max. Marks: 100
Note: Answer any FIVE full questions.
1 a. Bring out the differences between procedure oriented programmmg and object oriented
programming. (05 Marks)
b. Define function polymorphism. erte a program in C++ usmg function overloading area( )
to calculate area of circle (area = nr’), area of triangle (1/2 * base * height) and area of
rectangle (area = base * he).ght) (08 Marks)
c. What are static members of a class? Write and explain program to count the number of
objects created. (07 Marks)
2 a. Howdo you spéce' helps in preventing pollufipfi of global namespace. (06 Marks)
b. Write a C++ program that has a class names ‘student’ with data members name, USN and
average and two member function read( ) to read students data and write( ) to display record
on screen. Write main( ) function to'read and display three students data. (07 Marks)
¢. What is reference variable? Write a C++ program to swap two integer numbers and display
values before and after swapping. : (07 Marks)
3 a. Listand explain Java buzzword. : (08 Marks)
b. Explain (i) >>> (i) foreach (iii) Shortcircuit operator. (06 Marks)
c. Write a Java program to find biggest and smallest element in an array of ‘n’ elements.
h (06 Marks)
4 a. Discuss with exarﬁple how arrays are.declared and in itializéd in Java. Write a Java program
to demonstrate the use of array. (. (08 Marks)
b.  Write a Java program to perform. arithmetic operation ( +, —, *, /) based on user choice and
display the result on screen., (06 Marks)
¢. Explain briefly type casting in Java. (06 Marks)
5 a. Explain the concept ofinheritance and its classification. (08 Marks)
b. What is an exception? Explain the usage of throw keyword with an example. (06 Marks)
¢. Discuss use ofiinterface. Give its syntax with example in Java. (06 Marks)
6 a. Can constructor be overloaded in Java? Justify your answer. (08 Marks)
b. With example program, explain two uses of super in Java inheritance. (08 Marks)
c. Write a note on Garbage Collection. (04 Marks)
7 a. Define a thread. List the differences between multiprocess and multithreaded concepts.
(06 Marks)
b. [Illustrate with an example, the use of isAlive( ) and join( ) method. (08 Marks)
c. Discuss delegation event model with example. (06 Marks)
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Write a Java program to implement producer consumerproblem using thread. (08 Marks)
What is synchronization? Explain with an example how synchronization is implemented in
Java. (06 Marks)
Write a note on : N~

(i) adapter class (ii) inner class. ¥s (06 Marks)
List and explain two types of applet? Exp'ildih the skeleton of an applet. (06 Marks)

Describe the steps to create JTables, Write a program to create a table with the column
heading Name, USN, Marks, Grade: and insert 5 records into the tab[e and display on screen.

(10 Marks)
Write a note on components and 'containers. (04 Marks)
Demonstrate how to pass parameters for font name and ?Eant size in applet. (06 Marks)
List and explam different forms of repaint method. (07 Marks)

Create a swing applet that has two buttons named, “Outlme class” and “Offline class”. When
either of the button is pressed it should prmt “‘inme class is scheduled” or “Offline class is

scheduled”. Al (07 Marks)

* k% k k
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2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 17CS43
Fourth Semester B.E. Degree Examination, July/August 2021
Design and Analysis of Algorithms
Time: 3 hrs. Max. Marks: 100

Note: Answer any FI VE full questions. %,
1 a. Define asymptotic notations with example: % (09 Marks)
b. Solve the following recurrence relation. Using backward substitution :
X(n)=3x(n-1) forn>1,x(1)=4 . (03 Marks)
c. List and explain the basic asymptotic efficiency classes. " (08 Marks)
2 a. Define the following terms :
(i)  Graph :
(i)  Tree
(iii)  Set and Dl“cﬂtlonarles (04 Marks)
b. Write an algorithm to find n" Fibonacci number recursively. Set up a recurrence relation for
Fibonacci number and solve it. o (08 Marks)
¢.  Consider the following algorithm : '
Algorithm Mystery (n)
//Tnput : A nonnegative integer is
S0
for i«<— 1l tondo
SE—A1%
return s

(i)  What does this-algorithm compute?-

(i)  What is its basic operation? '

(iii)  How many time is the basic operation executed?

(iv)  What is the efficiency class-of this algorithm? (

08 Marks)

3 a. Write an algorithm to finding the maximum and minimum of the given set of elements,

{a(i), a(i+1),.......a()} ? (

b. Apply Quicksort algorithmto the following set of input values and draw a tree of

08 Marks)
recursive

calls to quicksort with-input values / and r of subarray bounds and split position P of a

partition obtained.

5.3,1,9,8,2,4, Thie : (12 Marks)

4 a. Explain the Strassen’s matrix multiplication algorithm to compute the product of 2x2
matrices. (08 Marks)

b. Describe the advantages and dlsadvantages of divide and conquer technique. (06 Marks)

¢. Consider the following graph, apply the DFS-based algorithm to solve the topological
sorting problem for the glven digraphs : (Refer Flg Q4 (c)) (06 Marks)

\@/1\@

Flg. Q4 (c)
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Write an algorithm of greedy method control abstraction forthe subset paradigm. (06 Marks)
What is spanning tree? Explain the Prim’s algorithm for<constructing a minimum spanning
tree for the weighted connected graph. (08 Marks)
Apply the dijkstra’s algorithm for single source ‘shortest paths for the given graph and
assume vertex ‘A’ as source (Fig. Q5 (¢)) ate (06 Marks)

Fig. Q5 (c)

(i) Construct a Huffman code for the following datats.
“[Character |A |B {&~|D |-
Probability [ 0.4 [ 0.1/ 0.2]0.15 | 0.15
(ii) Encode the text ABACABAD using the code of Q).

(iii) Decode the text whose encoding is 100010111001010 in the code of Q(i). (10 Marks)
Construct a heap for the list 2, 9, 7, 6, 5,'8 by bottom up algorithm and how efficient is this
algorithnt in'the worst case? (10 Marks)

Apply-the dynamic programming algorithm for constructing an optimal binary search-tree
for the following data set : o

Key A |B |C |D
Probability | 0.1 | 0.2 {0.4{0.3

S S _ (10 Marks)
Solve the all pairs shortest path problem for the diagram with the following weight matrix:

0 2 o 148]

6 0 3 R %

w o 0 4" LN (10 Marks)
w o2 0 3 ’

|3 ago o 0]

by

. -Qorﬁpute the optimualw tour of the giyeh gf‘airected graph using dynamic programming
techniques of TSP. (Refer Fig. Q8 (a)). (10 Marks)
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Apply the bottom-up dynamic programming algorlthm to the following instance of the
knapsack problem.

Item | Weight | Value

1 2 $12

7 1 $10 | Capacity W =35

J 3 $20

4 2 $15

(10 Marks)

Explain how the board’s symmetry can be used to find the second solution to the 4-Queen
problems. (06 Marks)
Apply backtracking to the problem of ﬁndmg a Hamlltoman circuit in the following graph
(Fig. Q9 (b)) S (08 Marks)

Fig. Q9 (b)
Write a pseudocode of the backtracking algorithm. (06 Marks)

Construct and draw the state space tree of the backtracking algorlthm apphed to the instance
A={3, 5,6, 7} and d = 15 of'the subset problem. (10 Marks)
Solve the following instance of the knapsack problem by FIFOBB algorithm.
n=4 (P, Py Ps, Pg)=(10, 10, 12, 18)
W[, W;,”W3, W4 - - (2, 4, 6, 9)“ . M =15

(10 Marks)
kK %
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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 17CS44
Fourth Semester B.E. Degree Examjﬁiftion, July/August 2021
Microprocessors and Microcontrollers

Q{};ﬁx‘
Time: 3 hrs. Max. Marks: 100
Note: Answer.anp:FIVE full questions. -
1 Define Microprocessor. Recall the various registers of 8086 thh diagram. (08 Marks)
With neat diagram explain flag register of 8086. A (08 Marks)
Write a note on different mem'ory segments of 8086. (04 Marks)
2 Explain with example vauous addressmg modes of 8086 (08 Marks)
Write an ALP to firid the Fibonacci series of first seven numbers. (08 Marks)
Write the four differences between Com and- Exf: file. (04 Marks)
3 Explain the following instruction with syntax :
(i) DAA (ii) RCR (iii) CLC. (03 Marks)
Write an ALP with algorithm to calculate the sum of (1 3h 23h) using sub instructions and
store the result at offset address 0010h. (09 Marks)
With the help of ADC instruction Write a program.to’ calculate the total-sum of 5 bytes of
data. The decimal data are 125 235,197,91,48. _° ;f % (08 Marks)
4 Explain the following 1nst(uctmn with example : &
(i) SBR (i) RCL (iii) SHL Y (03 Marks)
Write an ALP to . B
(i) Convert ASCIINO ‘23’ to packed BCD.
(ii) ADD the BCD Number 23 with 45
(iii) Convert the Result of above addmon to ASCII. /S (09 Marks)
Write an ALP to
(i) Toclearthe screen
(ii) To set the cursor at center of screen ¢
(iii) To Display a string “VTU WELCOMES zYOU” on the screen. (08 Marks)
5 Explain the following mstruction with syntax :
(i) IMUL (iily€LD (iii)STOSB (iv) SCASB (06 Marks)
Write an ALP to check whether a given stn‘ng isa palindromc or not? (07 Marks)
Find the controlword if PA = ottgPB = in, PCo — PC3 = in, PC4— PC7 = out and write the
program to get the data from port B and send it to port A. Use port address of 300H-303H
for 8255 chip. A (07 Marks)
6 Explain the following instruction with syntax:
(i) IDIV (ii) STD (iii) OUT (iv) LODSB (06 Marks)
Write an ALP to-check whether two strings are equal or not and display the corresponding
message such as “STRINGS ARE EQUAL”...... etc. (07 Marks)
Design a memory interface which uses 8 numbers of 2764 EPROM chip for 64x8 memory
for the address range between FOOO0H to FFFFFH. (07 Marks)
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a. With neat diagram explain ARM core data flow model:
b. With neat diagram, summarize the complete set o ters of ARM.
¢. With neat diagram outline the various function of embedded system.

L

‘ A
Y
a. Compare the difference between RISC @C design philosophy.-ﬁt"
b. With neat diagram explain the variou%:ﬁle of CPSR. ¢ f

c. With neat diagram summarize the pi mechanism in RISC processor.

a. Explain Branch and Data pro Instruction of ARM progessor with example.
b. Explain logical instruction o ;i processor, with syntax.and example.

With neat diagram explain'the functions of Barrel &W in ARM.
Explain different are and multiply inswﬂs of ARM with examples.

N s

s

2 0f2
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(07 Marks)
(07 Marks)
(06 Marks)

(07 Marks)
(07 Marks)
(06 Marks)

(10 Marks)
(10 Marks)

(10 Marks)
(10 Marks)
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_— 17CS45
Fourth Semester B.E. Degree Exammatlon July/Augus; 2021
Software Eggmeerlng ) i
c%q ~ &
Time: 3 hrs. o T A Max. Marks: 100
L W | v ';Lﬁ*;%‘ ?
Note: Answer any FIVE full questions.
:;;j;;,' ; . -*..:\M
s“% v ‘:LME.:».».-
1 a. Whatare the essenhal attnbutes of good soﬂware'? (05 Marks)
b. Discuss spiral mudél with its block diagram.* (08 Marks)
c. With a diagram, explam the Rational Umﬁed**Process (07 Marks)
2 a. Why the understanding of requn:cnimts from stake holder is difficult task? Explain the
requirements elicitation and analyg_ls process. (10 Marks)
b. Explain the IEEE standard structure - of Software Requﬁement Document,~ (05 Marks)
c. Explain the different checks;to be carried out dunn%mqulrement validation process.
9 S (05 Marks)
3 a. With aneat diagram, explam the 2 approaéhé&to interaction mbdelmg (10 Marks)
b. Explain class dlagram and generalization. . Gy (05 Marks)
¢. Explain data driven'modeling with example. ' (05 Marks)
: o, i £ Jﬁ
4 a What are the things to be done for'a design of ObJect Onented System? Discuss how the
objects are identified and dg Lmodels. (10 Marks)
b. Whatis de51gn pattern? Exp 4 elements o%s’fgn pattern. (05 Marks)
(= Explaln 3 general models ofOpen Source L;lc ing. (05 Marks)
5 a.  Explain developmeﬁf‘tésting, with 3, vlevel's of granularity in testing. (10 Marks)
b. Explain the benefits of test driven de\felopment process. (05 Marks)
c. Explain the stages of acceptance” f@ﬁhg process. (05 Marks)
6 a. Listand explain Lehman’s [aw. (06 Marks)
b. Explain the software reengineering process with suitable diagram. (10 Marks)
c.

Explain the legacy system assessment with example. (04 Marks)
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a. Draw the activity bar chart and staff allocation @‘ﬁ)r the following set of tasks shown

below.
Task | Duration Dependencies :
T, - A
T, = “&,"
T; 15 My s
1 N 0 — é‘
¥ 10 Ta, T%l_
5 T, To(Ma)
20 T\(Myp)
25 Pa %g(Mz) ‘
15 »ﬁz, Ts(Ms)
15 | Tz, Ts(Ms)
10 o) To(M7)
1%" ¥ | T, Tu(Ms)
b. Explain OMO — Il estimation model.

in the factors aﬂ‘ecﬁn&ﬁware pricing.

a. Explain how reviews and inspec are used to chec

W

y
b. List and mention the importance of product and pr s standards. 1

c. Explain the process of product measurement.

a. Explain the practices involved in the extreg
b. State the principleSiof agile methods. .
c. Write a note on,pair programming.

(10 Marks)
(06 Marks)
(04 Marks)

uality of project delivery.

(10 Marks)
(06 Marks)

(04 Marks)
(10 Marks)

(05 Marks)
(05 Marks)

(10 Marks)

&
a. How the agil€ methods are sca&%w they cope with large systems engineering and the
difficu introduce agile s into large companies.
b. Expl -driven and agi lopment approach for software development

c. Expl};in € scrum proce

&

L 4 20f2

(05 Marks)
(05 Marks)
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CECS S CHENERS

USN 17CS46
Fourth Semester B.E. Degree Exan;,;;natlon July/August 2021
Data Communié%tlon
@ 3‘”:’ S W,
Time: 3 hrs. N \=Max. Marks: 100
Note: Answer: a;;jf FIVE full questions.
1 a Whatisdata commumcatmn” plam four fundamental characterlstlcs (05 Marks)
b. With a neat diagram, explam the four basic t()pologles%§§ (10 Marks)
c. Write a short note on W@g Area Network. Ao 4 (05 Marks)
2 a. Explain circuit sw1tched network and packet sw1tched network with neat diagram. (10 Marks)
b. With a diagram expjam the layers in the TCP/IP protocol suite in brief. (10 Marks)
3 a. Explain Pulse Code Modulation in brlef by highlighting the components of PCM encoder
with supporting diagram. (10 Marks)
b. Explain different data transmtssaon n‘lodes with the dlagram (10 Marks)
4 a. List different categories of myltlplexmg and explam 4FDM and TDM with supporting
diagrams. £ _ ¢ Y (10 Marks)
b. Explain the following: « ““2* ‘12 'l
(i) Frequency Hopping Spread Spectrum
(ii) Direct Sequence Spread Spectrum 4 (10 Marks)
5 a. Explain in brief p_&gess of error detection m block coding. " v (10 Marks)
b. Write a short note.on checksum thl;appmpnate sketches. » (06 Marks)
c. Define: (i) Hamming distance gl) Burst error .-ﬁf«.% (04 Marks)
N i
6 a. Dlstmgulsh between cormeqtlon]ess and connectlon onented with respect to a DLC protocol.
;% ¢ (06 Marks)
b. Explain simple protocol™ % ™ N (06 Marks)
c. Explain transition phases in'a PPP connection, (08 Marks)
7 a. 'Distinguish betwee'ﬁ“pil‘re ALOHA and slotted ALOHA. (05 Marks)
b. Calculate the throughput S fora pure "ALOHA network if the offered traffic ‘G’ is 0.75.
(03 Marks)
c. Explain 1-persistent, non-pemlstent and p-persistent CSMA with flow diagrams. (12 Marks)
8 a. Explain three controlled access methods. (12 Marks)
b. What is channelization?Explain frequency division multiple access. (08 Marks)
9 a. Distinguish between fixed WiMAX and mobile WiMAX. (08 Marks)
b. Explain the three categories of satellites. (12 Marks)
10 a. Explain IPv6 datagram. (10 Marks)
b. Explain the three strategies which are devised for transition from [Pv4 to IPv6. (10 Marks)

* ¥ k k k
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USN MATDIP401
Fourth Semester B.E. Degree Examination, July/August 2021
Advanced Mathematics - Il
Time: 3 hrs. -'::'NM[?aX. Marks: 100
Note: Answer any FIVE full questions.
1 Find the angle between any two'diagonals of a cube. ‘ (06 Marks)

Find the equation of the plane which passes through the points (0, 1, 1), (1, 1, 2) and
(-1,2-2). (07 Marks)

X )y—7 z+3 x-8 y-4 z-5

Show that the lines 7 : and g l are coplanar and find
their common point. (07 Marks)
Find the angle between the planes x + y+2z—3=0 and 2x+3y+3z—-4=0. (06 Marks)
Find the shortest distance between the lines il = y=2 = g and A = y—4 = it
3 4 3 4 5
] : (07 Marks)
. . . . e . X VY—laWw-2
Find the image of the point (1, 6, 3) in the line T = 5% =—. (07 Marks)
3

If A=2i- 3] ~k and B :i—l—#}h 2k, find the angle between the vectors A and B.
_ ' (06 Marks)
Ifa=i+j—k, E=i—j+k and ¢ =i-j—k, evaluate (i) [E_E ¢] (ii) ax(bxc) (07 Marks)
Find the constant A such that the vectors 2i — J ke, i+ 23 —3l: and 3i + 7&]+ 5k are coplanar.
¢ (07 Marks)

A particle moves on the curye x = 2t2, y=t>—4t, z=3t-5, where t is the time. Find the

components of velocity and”a'cce]eration att= 1 in‘the direction of i — 3] +2k. (06 Marks)
If F=xi+yj+zk and r =| 7|, show that Vr" =nr"~ t. (07 Marks)
Find a unit vector normal to the surface x’ + y3 +3xyz=3 at(1,2,-1). (07 Marks)
If A=grad(x’+y" +2’ —3xyz), find'divA and curl A . (06 Marks)

Find the constant a, b, ¢ so that F=(x+ 2y + az)i + (bx == z)}+ (4x+cy+ 22)12 is
irrotational. (07 Marks)
Find angle between the surfaces x* +y®> +z° =9 and x =z +y* =3 at (2, -1, 2). (07 Marks)

Find the Laplace transform of:

e '(2cos5t—3sin5t) (05 Marks)

sin3tsin 2t + tcost (05 Marks)
—cosb

cos at —cos bt (05 Marks)
1

e” +4t* —2sin3t +3cos3t+ 2™ (05 Marks)
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Find the inverse Laplace transform of
s°—3s+4

3 (05 Marks)
s
& (05 Marks)
(s—1)(s—2)(s—3) : ‘
s?+1 %
log Gl (05 Marks)
S(S 2 .
25s-3 !
s +4s+13 N R

Solve using Laplace trangormation method y" + 2y’ =3y =sint, y(0)= y'(0)=0. (10 Marks)
<

By Laplace transform method solve the equatioh'w%%+4%%+3y=c“ with y(0) = 1,

y'(0)=1. w (10 Marks)

% %k ok %k ok
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